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109

Part — 11

SANSKRIT, Paper-I

(Second Language)

Time : 3 Hours |

Note: (1)  All questions should be attempted.

[ Max. Marks : 100

(1) " Question Nos. 1, 2, 3 and 14 should be answered in the medium of

instruction of the candidate.

(1) The remaining questions should -be answered in Sanskrit (Do anagari

Script) only.

(1v) The bits of a question should be attempted together.

(ii-iii) e, fodra, gfa wa sgeRyE ¥ TR 3R v aepavmRTE

gaAT: (i) 69 WAL GHIETEE: |
HHTYTI<AT: |
(iv)  SI991: FsFHY-E GHTHTAST. |
. & YeIrsh Qiesn wre foreq |

e

(A1) & fefesm: i grew g ganu faaq |
(3T) HEHa HEHAvs A 9uiad |

T ey g |

(3) wmEfE: wiglE U sufgieed 2 fvega 7
(37) Rauess 3ed FemeTy forad |
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I X6=06

I X6=6

1 x l'}+= 6
P.T.O.



4 Iquil YAl FEgrEE o |
(H) JgHN: Hfd @ ?

(%) T Fgefayy sfaerd wer famfeza 7

ot HEel s |
(¥H) 374 T2 Wl &y Iouvelsesy |

i-;.

(3T1) Wet: U : Ic@rayfatifar: |

(2) m:fﬁ;mﬁqlﬁl

(§)  FUFEEYEE FHedd HEpd U |

6. g TE=Yl SR |

(37) AT FHHA gliFamergdl 9|
(H7) 9z ! vd fraany |

(3) TSHI a1 g1 91 7Y 37T FANHA: |

(%) 378 "R Hiciq 3w |

7. VO e EgraEE foEe |
() P FY g F@: ?
(3AT) e AiGH T 7 Ta ?

(3) i 9 fead 7 e ?
(8),  HELET Hige 7

(3) SACY HE HIAT: §8 FATT: ?
(F) A UF YA ?
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2%3

4x2=8

I
=

2X3=06

Ix2=06



S, FITON YA wHeEE fega | Ix2=0
() gragT: feay qif@: 2

(31) ey fasfied fs paam 2,

(3) geiehd: Y NgAaH ? Heyn: 3fd 3G %: 3a. 7

(3) Ty I I@la W 7

(3) UIHHR: YTeeh] HH TSI ?

(%) caTerETd afg: foh yEa & 7

0, formuEvg gYq 93 fomaa | | I1x5=5
, HAYET
YN 3nye-93 ford |

10, gat: waear: wfawfwe s forem |  2x6=12
(3) BN (3M) @I i
3) @ =

[l ga: ergeyrr fored | 2%x3=6
() 3w (71) -wafa
(3) Tesd - @ W

12, Sy wfRamtdrgdEs fauea | X 3Ix2=6
(31) = (31) R
(3) FgE (3) I
(3) WA (@) Fashy

13. aﬁﬁmﬁmwﬁ%rtﬁm’m: Ix2=6
(H) <T + E: | (3m) f&a + 3Igew:
(3) W + 3l (3) ot + e
3) @+ (F) W+ 34
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4. HIET | (9 AT Sx1=4
C(H) 38 T sy | .
(1) 99 |- BT |
(3) HHATH F: |
(%) UT9ET: Hel T |
(3) 3 Hid B WA ?

15, Whd 9T gHIUTIA e | §x1=5
(3T)  9TTEa *id @ gf= 2

16, Wehd Ted SRTIHIY frEd | ix1=5
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